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QUESTION 1

A table named SALES was created as follows:

CHEEATE TABLE sales (order date DATE, order_d IMT)
IM ts1, 132, ts3, tsd
FARTITION BY RANMGE (order_date)
(STARTING '2012-01-01' ENDING '2012-12-31'
EVERY 3 MONTHS)

Assuming all table spaces required already exist, which statement(s) must be executed to add a new partition that
already contains data for the first quarter of 2013 to the SALES table and leave the table accessible?

A. ALTER TABLE sales ADD PARTITION part_2013g1 STARTING (\'01/01/2013\\') ENDING (\\'03/31/2013\\) IN ts5;

B. ALTER TABLE sales ATTACH PARTITION part_2013q1 STARTING (\\'01/01/2013\\') ENDING (\\'03/31/2013\\")
FROM TABLE g12013_sales;

C. ALTER TABLE sales ADD PARTITION part_2013g1 STARTING (\'01/01/2013\\') ENDING (\\'03/31/2013\\") IN ts5;
SET INTEGRITY FOR sales IMMEDIATE CHECKED;

D. ALTER TABLE sales ATTACH PARTITION part_2013q1 STARTING (\'01/01/2013\\') ENDING (\\'03/31/2013\\)
FROM TABLE 12013_sales; SET INTEGRITY FOR sales IMMEDIATE CHECKED;

Correct Answer: D

QUESTION 2

What are two services that the cluster caching facility (CF) provides in a DB2 pureScale environment? (Choose two.)
A. Global Lock Management (GLM)

B. Group Transaction Routing (GTR)

C. Automated Member Restart (AMR)

D. Buffer Pool Synchronization (BPS)

E. Shared Communications Area (SGA)

Correct Answer: AE

QUESTION 3

What can be done to prevent applications from failing when DB2 cannot create a new log file?
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A. Set MAX_LOG to 0

B. Set LOGBUFSZ to -1

C. Set LOGSECOND to -1

D. Set BLK_LOG_DSK_FUL to YES

Correct Answer: D

QUESTION 4

The following message is frequently seen in the DB2 Diagnostics Log file (db2diag.log):
MESSAGE:

ADM5502W

The escalation of "28581" locks on table "TEST.TABLE1" to lock intent "X" was successful. Which two database
configuration parameter settings should be checked? (Choose two.)

A. LOCKLIST

B. MAXAPPLS

C. MAXLOCKS

D. MAXAGENTS
E. LOCKTIMEOUT

Correct Answer: AC

QUESTION 5

Which would not significantly benefit from having the RUNSTATS command run on it?
A. Tables that have had little change.

B. Tables where a new index has been created.

C. Tables that have been reorganized (using REORG).

D. Tables that have been populated with a LOAD operation.

Correct Answer: A
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